1x 3" Hole Saw
1x 55mm Hole Saw

1x Hole Saw Arbor

4x #16 Hose Clamps

6x #10 Hose Clamps

1x Blower Switch
1x - Teflon Tape

2x 7/16" Washer
2x 5/16-18x5" Bolts
2x 5/16x18 Nuts
4x #8x1/2" Screws

4x 1/4x3/4" Self
Drilling Screws
1x Round Bezel
1x Switch Nut
1x #1 Knob

2 pcs Slide Vent

2x #6 x 5/8 Counter
Sunk Screws

2x #10 x 3/4 SS Screws | 1363

2x #10 Nylock Nuts

2x #10 Nylon Washers

CRXXXXXXXW 10845

1x 1/4" Eye Terminal
1x Quick Connectors

2x 7/8" Y Fittings

2x 5/8" Barb Fittings

1x 5/8 Shut Off Valve

é’ﬂﬁ

J00LdNOH-2-HN-HDDI

axn|a( 1| 419)eaH Q0. 499uold EPUOH+/]

GEIXXXXXXRTED (1053
: 2360
Slide Vent Kit
(Straight)
00 362
00361
401% Jp4oo 214
244 — , .
:_M 20x 11" Cable Ties
215
0230  e——
p— (
—___ 2x 15" Cable Ties



620

IC-HONP7DUHMBC
1x Heater Mounting Bracket 1x Compact

602 601 Heater Unit

1x 3" Grille
and Connector

*1\?‘*\‘\\"\\\\“\\\\'\\\‘& AU A D 4
1x Defrost "
5" 3" Duct Hose
Vent
( compressed)
505
3x2"Y's

2x 3" Vents
2x 2" Vents ‘ ‘ 501

15" 2" Duct Hose
(compressed)



Honda Pioneer 700 Deluxe with Power Steering Amendment

Please read all instructions before beginning installation. When working on cooling systems
always allow the vehicle to cool to avoid being burned or scalded by hot coolant. Always
disconnect vehicle’s negative battery lead before working on electrical systems. This kit is
reasonably complex to install. Competent mechanical skills are required.

Heater Kit amendment for Honda Pioneer 700 deluxe with power steering.

New heater mounting position as shown in Figures 1 and 2.

Heater hose routing will differ shown in Figure 3 and does not require the drilling of holes for fitting of
grommets. Trim plastic as required to route the heater hoses.

Install switch on the opposite side of the dash panel shown in Figure 4

www.utvheaters.com 888-964-01 35 ICCH-UH-C-HONP700D Ver. 11/9/17



http://www.utvheaters.com/

Honda Pioneer 700 Deluxe with Power Steering Amendment

. ////////////// R
v, "’7;’5’,'; / //////////////////////////// //;;?////////////////////////////

- ”///
: ‘\% ///////

s 4

Figure 2

www.utvheaters.com ICCH-UH-C-HONP700D Ver. 11/9/17



http://www.utvheaters.com/

Honda Pioneer 700 Deluxe with Power Steering Amendment

Figure 3

www.utvheaters.com ICCH-UH-C-HONP700D Ver. 11/9/17



http://www.utvheaters.com/

Honda Pioneer 700 Deluxe with Power Steering Amendment

Improper ue v =

Be prepared -

!
|
|

| Drive Responsibly
- f

Your Vehicle

Locate and Read Owner's Manual
Follow All Instructions and Warnings

Figure 4

www.utvheaters.com

ICCH-UH-C-HONP700D Ver. 11/9/17



New Sliding Defrost Vent supplied in this Kkit.

Figure 1

Figure 3

Position the supplied sliding vent template on dash, mark out hole centers and drill as shown on the template. Hold
defrost vent into position under the dash using a helper. Fit lower vent base into position, using supplied #8 screws
pass though the base and dash into the matching holes in the defrost vent, tighten screws. Fit top vent plate over
base, fit plastic washers over supplied #10 screws, install screws through the top vent and into the base. Tighten
screws until the top place slides nicely over the base. Install Nylock nuts to secure the #10 screws.



Honda Pioneer 700 Under Hood Ice Crusher Heater Kit.

Wl Wl

0 W TWE T D L ow b

AW Y o b el DRI o Y
olliat

B ——

L e Y
L e

Please read all instructions before beginning installation. When working on cooling systems
always allow the vehicle to cool to avoid being burned or scalded by hot coolant. Always
disconnect vehicle’s negative battery lead before working on electrical systems. This kit is
reasonably complex to install. Competent mechanical skills are required.

Remove hood.

Please Note: Before drilling any holes check area behind firewall/dash panels to make sure no
damage will occur by drilling holes or that no part will interfere with the installing of vents. There may
be interference issues due to a manufacturer’s changes in design.

Using the supplied vent templates mark out hole centers, drill vent holes using supplied hole saws as
stated on the templates and as shown in Figures 1, 2 and 3. Tip: Use a knife to remove burs and
chamfer from the drilled holes to help with fitting of the vents.

www.utvheaters.com ICCH-UH-C-HONP700 Ver. 10/28/2018



http://www.utvheaters.com/

Honda Pioneer 700 Under Hood Ice Crusher Heater Kit.

Using supplied defrost template mark and drill vent hole using a 3/8 drill as shown in Figure 4.

Cut a 3" length of the 2”duct hoses (lengths measured with the duct hose in its compressed state,
measure and cut accordingly) Make up defrost hose assembly using supplied defrost vent as shown
in Figure 5. Fit defrost vent in behind dash and attach using supplied defrost plate and #6x3/4 screws
as shown in Figure 6.

Tip: To attach duct hoses to Y’s and/or Vents either twist Duct Hose or Vents in a “screw” action. Use
cable ties around all duct hose connections.

Using the supplied heater hose template mark out hole centers, drill holes using supplied 1 % hole
saw as stated on the template and as shown in Figure 7. Fit supplied 1 ¥, grommets to the drilled
holes.

Fit 3” fitting and secure using four of the supplied #8 x 1/2” screws. Clip into place 3” intake grille as
shown in Figure 8.

Using Figure 9 as a guide cut duct hoses to length (lengths measured with the duct hose in its
compressed state, measure and cut accordingly) Make up hoses assemblies using supplied Y
connectors as shown in Figure 9.

Tip: To attach duct hoses to Y’s and/or Vents twist Duct Hose or Vents in a “screw” action. Use cable
ties around all duct hose connections.

Note: If not using defrost vents in the cup holder holes route two duct hoses from the heater to the
center vents.

Route all the 2” duct hose from vent positions to the center of the UTV. Stretch hose as you route the
hose to ensure you have enough hose to complete the installation as shown in Figure 10. Pull 2” duct
hoses through the drilled vent holes, attach the correct size vent to the duct hoses. Use cable ties
around all duct hose connections. Clip Vents into position as shown in Figures 11-13.

Using Figure 14 a guide route 3” duct hose from 3” intake grille fitting to the center of the UTV as
shown. Stretch hose as you route the hose to ensure you have enough hose to complete the
installation. Use the supplied 15"cable tie around the duct hose connection.

Use supplied switch template to mark the position of the hole centers as shown in Figure 16. Drill
holes to sizes stated on the template.

Move heater into position as shown in Figure 17, attach duct hoses to the 50mm connecters on
heater. Use cable ties around all duct hose connections. Attach 3” duct hoses to the Intake connector
on heater. Use the supplied 15”cable tie around the intake duct hose connection as shown in Figure

17.

Route the heater switch wiring and switch to switch mounting hole. Install switch, switch bezel, 7/16
washer and switch nut. Carefully align the locating tabs on the switch bezel with the small drilled
holes. Tighten nut and fit knob.

www.utvheaters.com ICCH-UH-C-HONP700 Ver. 10/28/2018



http://www.utvheaters.com/

Honda Pioneer 700 Under Hood Ice Crusher Heater Kit.

Pass the ends of the supplied 5/8 heater hose through the grommets in the drilled heater hose holes,
do not cut hose to do this. Tip: Using dish soap or a rubber/plastic cleaner on the hose will make the
hose slip through the grommets easier. This can also be used on any hoses fittings and Y connectors
to make connecting into hoses easier. Take supplied 5/8” heater hose and attach both ends to the
heater fittings, secure with supplied #10 hose clamps as shown in Figure 18. Please Note: Be sure to
remove factory shipping plugs from heater fittings if so fitted.

Make up heater power looms with the supplied terminals, fit the crimp terminals on the red loom and
one on the black wire. Fit ¥” crimp ring terminal to the black wire. Route heater red power wiring
loom up in behind the dash to the Aux. Power plug. Use quick connector to attach to the positive wire
of the Aux. Power plug (white/black) with the red heater power wire. Connect looms to the heater
power connector.

Remove the two bolts that secure the body plastic to the UTV frame in front of the heater. Slide the
heater mounting bracket between the plastic and the frame, refit bolts, do not tighten. Attach the
heater to the heater mounting bracket to heater as shown in Figure 19 using supplied 5/16"x5" bolts,
5/16 nuts and #10x1/2 screws. Use the supplied 74"x3/4” self drilling screws to attach the center of the
bracket to the UTV’s frame. Fit the black wiring loom 74" ring terminal under the supplied 4’x3/4” self
drilling screw as shown in Figure 20.

Drain cooling system by removing lower radiator hose. Important Tip: If you have the equipment to
clamp off the hoses where the heating fitting is to be installed you won'’t have to drain cooling system.

Before cutting any hose, be sure that the placement of the Y connector will not interfere with any part
of the vehicle.

Locate the lower radiator hose at the front of the UTV, cut radiator hose as shown in Figure 21
removing approximately a 1” to 1.5” section of the hose. Insert the Y connector exactly in the radiator
hose as shown in Figures 21, 23 and 24.

Locate the upper radiator hose under engine cover of the UTV, cut radiator hose as shown in Figure
22 removing approximately a 1” to 1.5” section of the hose. Insert the Y connector exactly in the
radiator hose as shown in Figures 22, 23 and 24.

Route one of the heater hoses over to Y connector in lower radiator hose. Cut heater hose to length.
Route the remaining heater hose up to the Y connector upper radiator hose. Cut heater hose to
length. Please Note: Make sure all hoses are as far away as possible from driveshaft, steering shatft,
sharp objects and the exhaust system, etc. Use supplied cable ties as necessary to secure hoses.
Please Note: Before connecting the hoses to the Y connectors, take a garden hose and run water
through the heater hose and heater assembly. This will help remove air from the system and stop air
locks, this step must be carried out.

Fit hoses to Y connectors and tighten clamps.

Install the supplied shut off valve in a convenient position in the heater hose from the upper radiator
hose.

www.utvheaters.com ICCH-UH-C-HONP700 Ver. 10/28/2018



http://www.utvheaters.com/

Honda Pioneer 700 Under Hood Ice Crusher Heater Kit.

Important: Refill cooling system as per manufacturer’s procedure. Reconnect battery. Start and run
the vehicle at a fast idle and run up to normal operating. Check for leaks. Check operation of heater.

Reassemble UTV as required.

Allow vehicle to cool and recheck cooling system level and coolant ratio, fill as required.

Refill cooling system as per manufacturer’s procedure. Start and run the vehicle at a fast idle and run
up to normal operating temperature. Check for leaks. Check heater operation. Allow vehicle to cool
and recheck cooling system level and coolant ratio, fill and/or alter coolant ratio as required.

If the heater fails to blow hot/warm air once the vehicle is up to operating temperature, there may be
an air lock in the heater unit. Temporarily block off the top/inlet radiator hose at radiator. Start and run
vehicle up to operating temperature. Feel the outlet/lower hose from heater until it feels hot. The
heater now should be blowing hot/warm air. Remove clamp from radiator hose. The heater should
continue to blow hot/warm air. This procedure may have to be repeated a few times to remove air
from system. Allow vehicle to cool, restart the vehicle and run up to operating temperature, recheck
heater operation. Please note: Heater output will be limited at idle, all testing should be done at a fast
idle.

Included in your Ice Crusher Heater Kit are our custom CNC made aluminum Y fittings. These Y
fittings install into the UTV’s cooling system as shown in the installation instructions. To assemble
simply use Teflon sealing tape or pipe thread sealer on the supplied 5/8” brass fittings threads, thread
into the Y fitting and tighten. Do not over tighten 5/8” brass fitting

www.utvheaters.com ICCH-UH-C-HONP700 Ver. 10/28/2018



http://www.utvheaters.com/

Honda Pioneer 700 Under Hood Ice Crusher Heater Kit.

L& 2

« To prevent drivetrain damage, bring the unit
to a complete stop before operating the
shift select lever (D-N-R) and drive mode
select lever (QWD-4WD-4WD Diff Lock).

« Turning in 4WD-Lock (Front Diff Lock)
requires more steering effort.
Allow more room to turn.

Figure 1

Figure 2
www.utvheaters.com ICCH-UH-C-HONP700



http://www.utvheaters.com/

Honda Pioneer 700 Under Hood Ice Crusher Heater Kit.

S ——————ir e )

it -.'~s"'-‘—§;> “"&'—-‘-‘““*"‘“.".h\*‘:" "‘" :

4}

-
-~
An
e
-
Y~
)
N
~

\"' ()I A

Figure 3

Figure 4

www.utvheaters.com ICCH-UH-C-HONP700 Ver. 10/28/2018



http://www.utvheaters.com/

Honda Pioneer 700 Under Hood Ice Crusher Heater Kit.

Figure 5

S ;
On U1,
() an 7/'/ Cp y 3
C A CunZ
Io e, ‘////r [7//»)/1,\ § 7P

Figure 6
www.utvheaters.com ICCH-UH-C-HONP700 Ver. 10/28/2018



http://www.utvheaters.com/

Honda Pioneer 700 Under Hood Ice Crusher Heater Kit.

Figure 8

www.utvheaters.com ICCH-UH-C-HONP700 Ver. 10/28/2018



http://www.utvheaters.com/

Honda Pioneer 700 Under Hood Ice Crusher Heater Kit.

ALlN jojuoid

JUBA
yseq Jamo1 H1 o
JUBA 2 - '
B mkp
JUBA
Solja(] Jolua
won.c (5 Jso4a(Q Jejus)

oA o) H1 g
S9SOH
JUa\ J8)eaH 00, EPUOH

__P

JUSA
yseq Jomo1 HY

JUSBA ¢

Figure 9

Ver. 10/28/2018

ICCH-UH-C-HONP700

www.utvheaters.com



http://www.utvheaters.com/

Honda Pioneer 700 Under Hood Ice Crusher Heater Kit.

N Qe

Figure 11

www.utvheaters.com ICCH-UH-C-HONP700 Ver. 10/28/2018



http://www.utvheaters.com/

Honda Pioneer 700 Under Hood Ice Crusher Heater Kit.

0 prevent drivetrain damage, bring the unit
10 a complete stop before operating the
shilt select lever (D-N-R) and drive mode

select lever (2WD-4WD-4WD Diff Lock).

= Turning in AWD-Lock (Front Dift Lock)
requires more steering effort.

Allow more room to turn.

Figure 13

www.utvheaters.com ICCH-UH-C-HONP700 Ver. 10/28/2018



http://www.utvheaters.com/

Honda Pioneer 700 Under Hood Ice Crusher Heater Kit.

Figure 15

www.utvheaters.com ICCH-UH-C-HONP700 Ver. 10/28/2018



http://www.utvheaters.com/

Honda Pioneer 700 Under Hood Ice Crusher Heater Kit.

| yor U
! Even Sl drnounts can mpa yc
| *n drive safely

4 B AP RSy

S~ r;ue.'

/] rﬁjf';\tx"I. P ;q

- "‘-—*‘- --—-—-—.~.._... o U ——— .

Fet

iy

Figure 17
www.utvheaters.com ICCH-UH-C-HONP700 Ver. 10/28/2018



http://www.utvheaters.com/

Honda Pioneer 700 Under Hood Ice Crusher Heater Kit.

R v 1y

‘\W\“ |

Figure 19

www.utvheaters.com ICCH-UH-C-HONP700 Ver. 10/28/2018



http://www.utvheaters.com/

Honda Pioneer 700 Under Hood Ice Crusher Heater Kit.

Figure 20

Figure 21
www.utvheaters.com ICCH-UH-C-HONP700 Ver. 10/28/2018



http://www.utvheaters.com/

Honda Pioneer 700 Under Hood Ice Crusher Heater Kit.

Figure 23

www.utvheaters.com ICCH-UH-C-HONP700 Ver. 10/28/2018



http://www.utvheaters.com/

Honda Pioneer 700 Under Hood Ice Crusher Heater Kit.

-
| top hose flow =>

[bottom hose flow €= ﬁ S

Figure 24

www.utvheaters.com ICCH-UH-C-HONP700 Ver. 10/28/2018




_ _ (ou per's
Honda Pioneer 700 Under Hood Ice Crusher Heater Kit. PRODUCTS

HEATER WARRANTY - utvheaters.com and coupersproducts.com
*Couper’s Products/UTV Heaters.com Heater Warranty. 3 Year/36 Month Limited Warranty

Couper’s Products warrants your UTV Heater System to be free from defects in material and craftsmanship under
normal use and service by the original consumer purchaser (end user) for a period of Three (3) year from the date of
purchase on all components except electrical components including but not limited to, motor, switch, wiring and
resistor. Electrical components are warranted to be free from defects in material and craftsmanship under normal use
and service by the original consumer purchaser for a period of One (1) year from the date of purchase. The warranty
is null and void if the system has been damaged by accident, improper installation, unreasonable use, lack of proper
maintenance, unauthorized repairs or modifications, or causes not arising from defects in materials and
craftsmanship.

Couper’s Products obligation under this warranty are limited to repair of the product at Couper’s Products production
facility, or the replacement of the product at Couper’s Products option and at Couper’s Products expense. Any expense
involved in the removal, reinstallation, or transportation of the product is not covered by this warranty. Prior to return
of any product to Couper’s Products customer must contact Couper’s Products customer service, (802) 294 0016, and
obtain a Return Authorization Number. This number must be marked on exterior of carton for easy identification.
Warranty product received at Couper’s Products without a Return Authorization Number may be returned at expense
of sender.

Postage must be prepaid, and the original dated proof-of-purchase must be included. Couper’s Products will not be
liable for any damages sustained in transport due to improper packaging or handling. The acceptance by Couper’s
Products of any product returned shall not be deemed as an admission that the product is defective or in any violation
of any warranty.

This warranty is Couper’s Products only express warranty of this product. We reserve the right to make changes to
products and policy that are in the best interest of Couper’s Products. No implied warranty shall extend beyond One
(1) or Three (3) year period from the date of the original consumer (end user) purchase. Couper’s Products will not be
liable for any damages, for loss of use of this product, nor for any consequential damages, costs or expenses.

Some states do not allow limitations on how long an implied warranty lasts or the exclusion of incidental or
consequential damages, so the above limitations and exclusions may not apply to you. This warranty gives you
specific legal rights and you may also have other rights not mentioned here that vary from state to state.

After receiving a Return Authorization Number send defective product to:

Ice Crusher Heater
23001 Industrial Bivd
Rogers, MN, 55374

888-964-0135

www.utvheaters.com ICCH-UH-C-HONP700 Ver. 10/28/2018







() /N Heater Hose

Hole Template

P 0Ss shown in
Fiqure /

Push—Fin

Mork hole center ond
use 1 1/4” hole sow

Please note: Before drilling any holes check area
behind firewall/dash panels to make sure no
damage or interference with equipment will occur
by drilling holes and fitting of vents,






'S3USA 3O Buipyld pue sajoy Bunp
Agf JnD>D0 M ruswdnba yaim aduaia4431u) 40 abewep ou aINS axew 01 Ss)eued
UYSepR /N1eMadl RUIYag BaJe »3Dayd sa10y Aue Bunpe 24043g 910U aseald

q ounbl 4 Ul
UMOYs so aroydwa |
FUS /N 9103 Ul H

MOS 310y ,£ asn
CUD J31U3D 3104 MU0

dll

Buipinow ysop ypm ubny







'S3UaA 4O Bupyly pue saoy Bunup Ag

JNDD0 M ruawdinba yam adusia44a3ul 10 a0ewep
OU 2JNS 2w 03 siaued ysep /Nemalld ouiyad
eaJe YDayd sa)0y Aue Bunup 24043g 910U 3sead

MOS 3104 WWCC 3asn
CUD J31U3D 3104 MU0

. OUD 2 3UunbDI
Ul UMOUS SO (3PIS
H7] JO4 a10)duwan
dhg> oyo)dua ]
TUS A JSMOT] HY

abpa ysop 1uUoUF UYiim ubny







Ice Crusher Heater Switch Template

switch Template, Choose
location as shown in Figure 16






m%@gagml_u IS 3114 JUas/\ 1S0443(] @C__O:m

UMOUS eaJe Ul Yysep
4O J23U3D UO 21 dwal 4a1u3)

(D0 00000606 ()
T T T

SpUa Y10C Uo S310Y 8/ X8 N[ SPU3 Y10g Uo
Sa104Y 2/T X2 nHd S0y 91/& N4l







	Amendment Honda Pioneer 700 deluxe
	Updated Honda Pioneer 700 Ice Crusher Heater Install Instructions with templates 10 18
	Updated Honda Pioneer 700 Ice Crusher Heater Install Instructions with templates
	Ice Crusher Cab Heater Switch Loom Wiring
	New Sliding Defrost Vent supplied in this kit (2017_01_10 19_12_02 UTC)
	Updated Honda Pioneer 700 Ice Crusher Heater Install Instructions
	Heater hose Template (2017_01_10 19_12_02 UTC)
	intake vent Template (2017_01_10 19_12_02 UTC)
	Lower Vent Template (2017_01_10 19_12_02 UTC)
	Switch Template (2017_01_10 19_12_02 UTC)

	center defrost template (2017_01_10 19_12_02 UTC)


